Secondary 3

Unit 9 Review

9.2

Find the measure of each angle.
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Draw an angle with the given measure in standard position.
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State if the given angles are coterminal.
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Find a positive and a negative coterminal angle for each given algle
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Find the exact value of each trigonometric function.
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9.3

Convert each degr ure into radians.
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Convert each radian measure into degrees.
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Find the exact value of each trigonometric function.
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Find the length of each arc. S - f'e < W\ ﬂﬂd‘a"$
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Find each measurement indicated. Round all side lengths to the nearest hundredth an all angles
to the nearest degree.
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Find the area of each triangle to the nearest tenth.
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